0]7} 50.24 cm? 0] 11, =0]7} 18cm @1 Y75 2] Hu] & 5}
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2

w

>
> FEeHl 904.32cm?

(27159 Fu) = (BH Hel) x (&°l)
=50.24 x 18 = 904.32(cm?)
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Wlo] 7} 153.86cm? ©] 1, B 7} 615.44cm3 ¢ W75 9
TSHA 2.

v
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(97159 Fu))=(EHol)x(&°]) ol 2=
(39°])= 615.44 + 153.86 = 4( cm)




27152 W o] s 270l
Qo) Weio] A%t 174t
b 2 -1 = 1Yk




©OFRE

!

~NOHr

e e

B B
T
@ @

~ ©]
o BH




Ton
ﬂo
1__.&.0

A

)
W

g

ay

ol

,_._mo
i H
0
{5
o Ik
= o
L
o 9o
TR e
KON
o

Ut

SH
=]

(o}

olet

e
i

0 Ato] o] Al

1

®




b

o2 vebg Y

%]
o] 2 /Ayt

wo]

@

ol
W

1

o o] Qo7 Bye

e

® AAzkeol 7hze] golet




7. Oge AALR v 9759 9HolE Tah e,

(B

[ V)




12x 3.14 x 9 = 339.12 (cm?)




100.48 cm

i

(E87F 4 vHF == A )
= (Z]&°] 8cm 1 V2] 41H)
— 8% 3.14 x 4 = 100.48( cm)
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11. AAEE 23, 97159 2yolg ot L.

O

=~ ~

T~-95 12e¢m-- |\

O

m

o

=
n

[ 2
[> Hehl 326.56.cm?

A 2)= 2512+ 3.14 + 2 = 4(cm)
(BYlo]) = (4x4x3.14)x2+25.12%9
= 100.48 + 226.08 = 326.56( cm?)




12.

o] 50l 20em ¢ A71F ] W ol7F1193.2cm* L o, o] &
o =ol= % em YY7W?

® 10cm @9cm ® 8cm @ 7cm

~&B

® 6cem

(27152 2Hol)
= (ZYo]) x2+ (FHol)olEE

EolE[ et std

10X 10x3.14x2+2x 10 x 3.14 x| |=1193.2
628 + 62.8 x[_|=1193.2

62.8 x| |=565.2

[ ]=9(cm)




13.

e A7159 AYol7} 57148 cm?2 & o, 917]5-9]

7cm

\VARR 4
0

o

=N

Q

=

=0

i

]

=

=

:’L

[}

HAL.

B

(@] Wol) = (Z4lol)- (Rwe] Hol) x2
= 57148 — (7 X 7% 3.14) x 2
= 571.48 — 307.72
= 263.76( cm?)
(o)) = (@79 Wel): (2He] 947)
= 263.76 + (7 x 2 x 3.14)
= 263.76 + 43.96 = 6( cm)
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>
[> &l 1921.68 cm®

113,04 cm’
h

~&B

(Fo)=(B¥el)x(&E°l)

(7F) 28.26 x 12 = 339.12(cm?)
(H) 113.04 x 14 = 1582.56(cm?)
wehA T 5o o] ghg ok
339.12 + 1582.56 = 1921.68( cm?)




15. o5 WMER wEoiAe YAEF 9| Fo& F5HA L.

TTT-18.84em- -7 |Sem

® 150.76cm3 (@)141.3@113 @ 132.66cm?

@ 130.88cm? ® 114.08cm?

H

o] ¥tx]5)=18.84 + 3.14 + 2 = 3(cm)
59 H1l)=3x3x3.14 x5 = 141.3(cm?)




16. ts 5 Fu7t 7Hg 2 A2 ol AJU7?

of

@) Aol 14em ©1 3, 017} 5em 91 971
@ ¥rz]&°] 5em ©]al, Eo|7t 5em )1 9715
® & 2A7 9om 9 B LA

@ 24017} 96em? < HLAA

®

YA YF7F 15.7cm ©]4L, 017} 10em Q1 ¥71F

~&B

@D 7x7x3.14x5 = 769.3(cm?)

@ 5x5x3.14x5 = 392.5(cm?)

® 9x9x9="729(cm?)

@ 3t mAMa] Q] o1& | Jemet st

[ Ix[ ]x6=96,[ |x] ]=16,[ ]=4(cm
wabd Huls 4 x 4 x4 = 64(cm?®) U,

® Y| k] 50] 15.7 + 3.14 + 2 = 2.5(cm) °|EZ
Hull 2.5x% 2.5 % 3.14 x 10 = 196.25(cm®) YUt}




@D 2x2x3.14 x4 = 50.24(cm?)

@ 1.5x1.5x3.14 x5 = 35.325(cm?)
® 2x2x3.14 x5 = 62.8(cm?)

@ 2x2x3.14x6 = 75.36(cm?)

® 2.5%x2.5x3.14 x 3 = 58.875(cm?)




18.

3 wo] o7} 10em A AAEG O & WS sAFoR
a0 Bal @ omd YUY

w

=1 cm

>
[> Hehl 3140cm?

3 A|+= ¥HAE 10 cm, #=°] 10ecm ¢ ¥7]5°] BU
(F1)= 10 X 10 X 3.14 X 10 = 3140( cm?)
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